SPARE PARTS LIST

MODEL NO. HR2450

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
001 286263-4 Sapka 35 1
002  233940-9 Gyuru HR2440/50 1
003 417629-9 Farétokmany fedél 1
004 257241-1 Gyuru 1
005 345187-4 Vezetotarcsa 1
006 233916-6 Nyomorugé 21-29 1
007 921923-8 Hatlapfeju csavar 1
008 417630-4 Fogantyu 1
009 135302-6 GRIP 36 ASS'Y 1
INC. 7,8,90
010 266069-6 Onmetszo csavar M4x45 4
011 417794-4 Sapka 1
012 162229-7 Atkapcsol6 kar 1
013 213278-8 O gyuru 17 1
014 183441-6 Fogaskerékhaz 1
INC. 15
015 153290-5 Tugdrgds csapagy 1
016 233918-2 Rugés gyuru 28 1
017 267228-5 Alatét 1
018 233328-3 Nyomorugo 1
019 227028-5 Homlokfogaskerék 51 1
020 216022-2 Acélgolyé 7,0, forgo felfogosz 1
021  153365-0 Szerszamtarto 1
022 267229-3 Alatét 1
023  213128-7 O gyuru 12 1
024  324396-8 Utoszeg HR2020-HR2450F 1
025 324218-2 Gyuru 9 1
026  213232-2 O gyuru 15 1
027 324216-6 O gyuru foglalat 1
028 213073-6 Gyuru 9 1
029 233917-4 Gyuru hr2400 1
030 324214-0 Utoszeg HR2450 1
031 213227-5 O-gyuru 16 HK0500* 1
032 331632-5 Hengerdugattyu 1
033 267104-3 Lapos Alatét 12 1
034 324215-8 Dugattyd csuklécsap 1
035 267104-3 Lapos Alatét 12 1
036 211012-0 Golybéscsapagy 606Z2Z2* 1
037 961003-8 Seeger-gyuru S-7 961003-8 1
038  233343-7 Nyomorugé 1
039 331634-1 Kuplung 1
040 324248-3 Tengely 1
041  219014-0 Onbeallitd csapagy 1
042  226550-9 Tanyérkerék 26 1
043  266273-7 Imbuszcsavar 2
044  345179-3 Csapagyfedél 1
045 267234-0 Lapos alatét 1
046 211032-4 Goly6scsapagy 6082z 1902* 1
047 324212-4 Gyuru 8 1
048 213725-9 O gyuru 68 1
049 153687-8 Belso haz HR2450+345363-0 egyl 1
050 213380-7 O-gyuru 24 6805BV 1
051 210060-6 Golybéscsapagy 1
052 267231-6 Lapos alatét 1
053 240084-8 Ventillator 1
054 515668-4 Forgérész HR2450 1
INC. 51,52,53,55,56
055 681636-0 Szigetelo alatét 9521NB/4304T/ 1




SPARE PARTS LIST

MODEL NO. HR2450

ITEM PART NO. DESCRIPTION

QTY NOTE

PAGE 2

056 211021-9 Golyéscsapagy 607LLB
057 266052-3 Onmetszo csavar M4x60 4
058 419201-3 Légterelo lap

059  633488-5 Allérész

060 418084-8 MOTOR HOUSING

1

061 853822-5 NAME PLATE HR2450

062 689111-0 Tavtartd

063 643988-7 Szénkefetarté

064 819063-3 MAKITA cimke*

065 191962-4 Szénkefe CB-419 (CB-406, CB-40

066 643989-5 Szénkefetartd

067 815978-2 HR2450 SERIAL NUMBER LABEL
068 650508-0 Kapcsolé HR2450

069 153284-0 FogantyUburkolat készI.

070  265999-8 #Onmetszo csavar M4x25

071 682566-8 Kabelvédo

072 665890-4 Kabel

073 645253-0 Zajszuro kondenzator 645253-0*
074 687052-4 Kéabel-fesziltségmentesito 6870
075 265995-6 Onmetszo csavar M4x18*

076  265999-8 #Onmetszo csavar M4x25
077  421494-0 Gumi gyuru 19 9521/22NB
078  417795-2 Kapcsol6 retesz

079 233341-1 Nyomorugo

080 226399-7 Kupkerék

081 265999-8 #Onmetszo csavar M4x25
082 345363-0 Lemez HR2450/F

083 961017-7 Zéarégyuru E-3 961017-7
084  417796-0 Vezetosaru

085 233344-5 Nyomorugo

086 961011-9 Zarogyuru E-4 9611011-9
087 941102-2 Lapos Alatét 5 941102-2
088 233342-9 Nyomorugo

089 163430-7 Rogzito lap

090 345280-4 Hatlapu alatét

091 2672714  Alatét

AO1 324219-0  Mélységallité HP1620

AO2 824650-5  PLASTIC CARRYING CASE
AO3 122573-4  CHUCK ADAPTER for SDS-Plus
AO4  192892-2  KEYLESS DRILL CHUCK

AO05  122823-7 KEYLESS DRILL CHUCK ASSEMBLY

RlRr R RPPRPRRPRPRPRPRELNRNMNRNRPRRPRRPRERPNNRRLRRPRRRPRPRPRRPRPRENRRERRREN




SERVICE DRAWING

PAGE 1

MODEL NO. HR2450




